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[ INSTRUCTIONS |

1. Please correcily fill your Roll Number in O.M.R. Shset.
Candidate will themself be responsible for filling wrong
Roll No.

2. At the siart of the examination before aftempling the
guestion paper kindly check your test booklet and OMR
Answer Shest and ensure that :

*  The serial numbers of test booklet and OMR answer
sheet arg same.

*  All pages of test booklet and OMR answer sheet are
properly printed. All questions from S.No. 1 {o last
S.No. 124 are printed and pages from S.No. 1 to last
S. No. 18 are there in the question bookiet.

In case of any discrepancy / defect the candidate should
immediately report the matter to the invigilator for
replacement of test booklet and OMR answer sheel. No
claim / objection in this regard will be entertained after
five minutes of start of examination. Candidate will be
liable for it.

3. Answer all questions.

4. All questions carry equal marks.

5. Only one answer is to be given for each guestion.
8

. If more than one answers are marked, it would be
treated as wrong answer.

7. Each question has four alternative responses marked
serially as {A}, (B}, {C}, {D}. You have fo darken only
one circle or bubble indicating the correct answer on
the Answer Sheet using BLUE BALL POINT PEN.

8. Use of Mobile Phone/Blueiooth Devices or any other
electronic gadget in the examination hall is strictly
prohibited. If any such prohibited material found with
any candidate, strict action wili be taken against him/
her as per rule.

8. If there is any sort of ambiguity/mistake either of
printing or factual nature in Hindi and English Version
of the question, the English Version will be treated as
standard.

Warning @ I 2 candidate is found copying or if any
unauthorized material is found in his/her possession, F.LR.
would be lodged against him/her in the Police Station and
he/she would liable to be prosecuted under Section 3 of
the State Prevention of Unfair means Act, 1982 and
Board Regulations. Board may aiso debar him/har
permanently from all future examination of the Board.

e i 2

AR
THUGT 70T T TR ST OH. ST, TS W T JE e o |
el e I e odanelt e seeEE g
2. TY-UF v A § ud ol IRy €1 € ueeE-u s T
ST 3TL. TSR ) yer- g Site = o8 ghifen s B
* yee-s R S STUA. ST, SR 3 IS Uh T E |
* AU R U SO AIR. ST 5 W 758 W B Y
¥l vyr-us ® we . 4§ sifen wuie 420 a9 well 99 shaR
e ¥ w9 TS HEER 1 9 16 9 e
B off TR ) el 89 = Syl 39 W we-u it @
FLTH. . T w1 g fAwmE sfes @ ura & |
vl TRe BN & 5 fade % uverq O el H e o s sl
o R fommr wET T e Sa wv fremery st @1 g
wef oAt % SR ey
weft weAl & e g ¥
Sedeh WS ST ohale] Uss @ IO alfSi
s  erfier ST 39 o H URE & I ST TR T S |
I we & UR dwfeus s R oW ¥, 5w wmen
(&), (B}, 0), (D) oif e wn ¥ el w1 o) 3w
Fafdss o gU T ¥ Sat U T 24T F8 T SRR
WA e wrge O 9 U ST ¥
8. TERd W/ oy feary swEn soEelie 3% o wE Bl
F yeim yofen offa ¥ 1 aft fech srefl & o O 5 afl
qrfy e © & Sud freg 918 50 FRMTEER FEr wear]
Eilsicig
Iy B wed & Bl o oS sl o Rl gew = e
TRUT 7 GeATHE YR S IR BT 79T w1 ST Sl 5
Gl
SerEt oUR i stveell wwel BN YRl ST § A1 U 7 9
i el Tl o S §, Sw el % ey g A wefve
oo U A v v enife e W Jeenw s,
1982 S UR 3 T SIS VYRR & 980 wParR] S Sre | e g
e U arvoef] w1 wfasy § @ Sl W1 =) v whaned § el
A B 1

e

3
4
5
g
7

s

¥R o Qe 81 9 7 et w9 7k g 4 1/ Do mot open this test booklet nntl you are asked to do so,




{Li g?zﬁﬂ’ :
BUST T AT s fewEl T ey few
e srfems g ¥ 7

(A) Tty
(e
()

B) =

CFc BT
Who wac the chief architect of the
Kumbhalgarh Fort 7

{A) Mandan (B) Govind

{C) Mapa {D) Punja

FEETE B g o g el @ ar?

(A) TUE (B) Tifre

() = (D) gom

Who was the first Chancellor of "Chamber
of Princes" ?

(A} Maharaj Bheem Singh

(B) Kamni Singh

(C) Gajsingh

(D) Gangasingh

‘T TG RIS @ vuW aiae] o ar?
(A) IO WERiE (B) ol RiE

(C) Tl (D) vrmig

Whom did Gora and Badal protect ?
{(A) Maharana Pratap (B) Rani Padmini
(C) Rana Udai Singh (D) Kamlawati
M1 IR wEw 7 feagady e ey oy ?

(A) FETeT A (B) T+ wefrh

(C) T Ty e (D) wawear

Surji Bhagat was socio-religious reformer

of which tribe of Rajasthan ?
(A) Bheel (B) Meena
(C) Gurjar (D) Garasiya

ol 9 TS o fee wwenly % arhie-
IS GuRE A 97

(A) ¥t (B)
(C) ToiR (D) TR

&

&

"Tarun Bharat Sangh' organis
for which of the followin g
(A) Women Empowerment
(B) Anti-Corruption

) Water C@ﬁsewaﬁ%ow
(D) Tribal Youth Devsl f‘pmmb
@Y HY TE § 7

(A) witer geTiReTo

(B) g=rm-Fiy

(C) wrw dxeror

(D) arieam; & fawrg

{} S W "’é“;}
.
ield 7

& o T

The Command Area Development

Programme (CADP) was started by which

of the following ?

(A) Government of Rajasthan and World
Bank

(B) Government of Rajasthan and Reserve
Bank of India

(C) Government of India and World Bank

(D) Government of Rajasthan

e 7 ¥ fegs T wais ofan Seeade g

(SIeErdy) wry feman v ot ? '

(A) T weR e fuvg

(B) oM wiar ug Rwd €% aw S

(C) e &R v g o

(D) USRI Gt

"Taalchhapar' lake is located in which of the
following districts of Rajasthan ?

(A) Churu (B) Udaipur

(C) Bharatpur (D) Alwar

e & § e % g R ¥ aemeT e
arafery 37 |
(A)Tw
(O) "agy

(B) seugt
(D) eteex

The ending point of the Indira Gandhi Canal
is situated in which one of the following
districts ?

(A) Jodhpur (B) Jaisalmer

(C) Barmer (D) Jalore

e 4 9 e fer & shex wifell w81 @1 aifaw
BT i ¥ 7

(A) SiregR (B) Sraea
(C) mrewx (D) ST

ey
G

-y
[

pash
b

i3

7

In which style of Painting birds and animals
have got an important place 7

(A) Bundi style {B) Nathdwara style
(C) Kishangarh style (D) Bikaner style.

Fersromen o Row I T vl oF W o TR

(B) wrasrq $RT
(C) T =i (D) Srt dm

Who was the founder of Aimer Cit

(A) Arnoraj (B) Ajayra

(C) Ajaypal (D) Someshwar
SFTHT W T TEITISH B A1 7

(A) STt (B) ST

C) STIdTE (D) wrEsa

Where is Jaswant Thada located 7
(A) Bikaner (B) Amer
(C) Udaipur (D} Jodhpur
waed el GEl sranyd ¥ 7

(&) FwTR (B) et
(C) TE (D) g

Ren, Shahpura, Sinthal, Khedapa were the
four main centred of which sect in 18
century in Rajasthan ?

(A) Meeradasi sect (B) Ramsnehi sect
(C) Dadu Panth (D) Ramdasi sect
18 gl § Ty W Yo, omeyN, WU,
QT 5w WWEE % WK WE % 87

(A) Arery gwerm (B) Oveel 9
(C) T1g vy (D) Ty gvEE

Who is painter of famous "Bani Thani"
Painting 7

{A) Amarchand (B) Nihalchand

(C) Nekchand (D) Rajsingh

e - R e R am ot

(A) AT (B) FrwE=
(C) v (D) TeIRiE

‘Who coined the word "Rajputana” for the
first time for Rajasthan 7

(A) Metcalfe (B) Colonel Todd
(C) Lord Wellesley (D) George Thomas
T & R TS TE T GRT GEne
fepge fomar ar?

(A) e (B) ovd (e
(C) wi¢ ey (D) SISt oTE

8G3)
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(A

(C das

5?“1&‘3“%{ éﬁ S.iir\e&i'\ RICEEE] ?};;3:\;?5 TR T C‘?gb@
TR § 7

(A) goem T @ (B) sRhew O e
(C) womee © @@ (D) Ao O '
‘Who is the author of "Mutinies ir

Khadgawat

(C) Michel Edward

(D) Jabar Singh

T T GRS

IR & SreC AR
g7
(A) g, &Y. R

(
(C) vRme UETS (D

B) | gsEd
) RIS

Where was the formation of Bharatpur
Prajamandal announced 7

(A) Bhusawar (B) Rewari

(C) Agra (D) Bayana

YRAYR GeTSE T el e fed w a)
= 7

(A) qEmEy (B) e
(C) T (D) Tar

How many years of rigorous imprisonment
was given to 'Sagarmal Gopa' on charges of
treason 7

(A 12 years

(B) 20 years

(C) 6 years

(D) Life imprisonment

QT AT Y TSTAS B SR ¥ e Y ol
(A) 12 a9 (B) 20 ad

(C) 6o (D) aTSiE SO
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i 8
a rim}mm 2“ R"jasé‘ham which 0? the
follo wmg,
(1) Dominance Gi ood- g_a,raw crops
{2) Monsoon neutral agriculture
(3) High dependence on Dr ry- -farming
) Existence of Shifting-agriculture
Select the correct answer, using the codes
given below —
Codes :
(A (1) and (3) only
B) (3\ and ’4‘% nly
(C) (2), (3) and (4) only
(DY (1), (3) and (4) only
Ty ¥ PN B o vHE agvaet ¥ ged
EREC | a?%‘s’ gy ?
(1) @ wEal & YT
(2) wTRE T PN
(3) g iy oT Ieg M@
(4) W BN W S
A few Mg el b wERET ¥ T8 ST @l Tue
Sty —

~ -

§’E H

(A) saw (1) i (3)

(B) e (3) o (4)

(C) &= (2). (3) oI} (4)
(D) Faw (1), (3) &K (4)

Which of the following pairs is correct ?
(A) Som — Mahi (B) Jakham — Luni
(C) Parvati — Jakham (D) Kothari — Luni
Preffem & 4 A T g a@ E?

(A) 9™ — A (B) srem — T

(C) wdat — srew . (D) @iy — T

On Chambal Ghati Project the following
dam is in Madhya Pradesh

(A) Jawshar Sagar Dam

(B) Kota Barrage

(C) Gandhi Sagar Dam

(D) Rana Pratap Sagar Dam

TR T Gl O FeEaRed ¥ ¥ e vy

¥ fom wfg ¥~

(A) SRt 9 g (B) &1 oW

(C) wifel wrre |ty (D) TToT YT R 9
Which is not the Gypsum producing area ?
(A) Dhakoria (B) Debari

(C) Jamsar ) Hamilwaii

Fres % @ i 1 P o dm o 37
(A) st (B) s=rd

(C) wrHEY (D) BHEmy

24 During the rei gl 0‘ which Maharana, the
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Fay

t1 with the ruler is found?
(B) Amar Singh-II
(C) Amar Singh-I (D) Swarcop Singh
TS & foae HErqen o QTR H SaTE TEroned
% Ty T e o i we o faere e

X
(A) TS (B) sreiie-fgam
(C) ercitie-ggw (D) weuRfE

'y

Which place is famous of Rajasthan for
"Theva Art' of enameling 7

(A) Barmer (B) Jobner

(C) Nathdwara (D) Pratapgarh
ST & ST o Y9 & g e 9l
W e § 7

(A), ‘F&"ﬁﬂ (B) ST
() Vﬁ%@]“’f ) e

Who was the author of the book 'Shok
Shatak' ?

(A) Kesarl Singh (B) Umardan

(C) Balabaksh (D) Nathudan

‘Sl ST® & WEs B 97

!A} mﬁr@' (B) TaEM
(C) FrTTEEsT (D) e

Rem&;ins of Gilund Civilization belong to
which era ?

(A) Copperstone era (B) Ironstone era
(C) Pottery era (D) Stone era

1o @ & sragi fq g % ¥ 7

(A) TTHER I (B) drevwr g1
(C) weets g (D) s g

Raﬁ«a«f Kumbha built the nine-storyed "Kirti-
Stambha" and dedicated it to which
worshipped God ?

(A) Shiva (B) Hanuman

(C) Ram (D) Vishnu

i & faener BRI @ W I A
T e SurEre e gEfa fe ¥ 7

(A) B (B) T

© ™ (D) feroy

[
pusch
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f1he following districts of Rajasthan
as ﬁ?@S boundary which touches
Pak Sﬂia‘nﬁ '
(A) Sri Ganganagar ’Eé‘ Bikaner
(C) Jaisaimer }’é rmer

A~

TiRRET B ST OET W vac%em & W W R

e O A e &
T @ R dEary Y

(A) ST (B) §&rY
(C) SEeER (D) §/9%

Which of the following winds are termed as

"Loc' 7

(A) Dry winds blowing such as san
(B) Winds coming from water bodies

(C) Winds of same speed

(D) Western depression ’

w o ReE W @ EEnel @ W Wil 87
(A) gEY o € TEIN W Tl

(B) s Y & ok ¥ e Iy sand

(C) ol & w8 @ samg

(D) uiyed! SR

Black Soil is found in -

(A) Baran, Jhalawar, Kota

(B) Jaisalmer, Barmer, Jodhpur
(C) Tonk, Dholpur, Alwar

(D) Bikaner, Udaipur, Sirchi
e gaT U Sl © -

(A) T, FEETE, BT 3

(B) SIE@mT, §ISER, W RES El

(C) <, €@y, s@ay o

(D) S, JEayy, v o

National Mustard Research Centre is situated
at — N

(A) Tonk (B) Jhunjhunu

(C) Sewar (D) Behror

TR G o™ o Rug 8-

(A) < A (B) gL ¥
(C) Terc o (D) Te33 o

In which year ‘Mm«:hyamanm Jal
Swavlamban Abhiyaan" was launched in
Rajasthan 7

T § e

ENRCIERERRC I

o forg T W @ S 7
(A)2016
(C) 2018

(B) 2017
(D) 2015

[

B2n
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Which of the following is no

Animal "
(A) Cow
(B) Buftalo -

(C) Sheep -

)

{f\\ J(VY& “i .
frer % 4 B9 T ghiwe el

RE] i
(A) T — Tl
(B) ¥ - 3
(C) 9 - w
(Dy&= - WG]
In yea
(A) Aa
(C) ba
ay¥ 201
§%i glEig
%7
(A) ST (B) &t
(C) |t (D) 9T

Beed' are found in the district of -
(A) Kota, Bundi, Sirohi

(B) Jaipur, Alwar, Tonk

(C) Sikar, Jodhpur, Bikaner

(D) Bhilwara, Ajmer, Pali

e Frer Prwl W U S § -

(A) wrer, 41, e

“(B) a‘ag‘( A, ek

(C) Frox, huqR, SEFT
(D) HiwarsT, ST, Tw

Which region of Rajasthan is known as
"uppermal” 7

(4 Ajmer, Tonk, Bhilwara

(B) Kota, Bundi, Jhalawar

< 39("1@&& Jalore, Barmer

(D) Sirohi, Pali, Udaipur

R W CHUTER B T Y B G 8 ST
S

(A) 3 AT, e, Haars?

(B) @, 6, S

(C) Suqy, R, 88

(D) Rrddy, T, U

]
a‘th \fm a in z{azagwm;

{} armesn Gadfav

ST f‘i gt TRE o T EET sg“m‘h?
e s o ge w?

(A)2014-15 (B) 2015-16

(C) 2018-19 (D) 2019-20
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On the basis of their abundant presence
match the following forests with districts

using codes given below :
(i) Salar forest (a) Banswara
(ii) Dhaak forest (b) Sirohi

(iii) Evergreen forest {(c) Chittorgarh

| (iv) Dry Teak forest (d) Alwar

el @t K ™ ge @ gerar ¥ gafig Sifwg:
(i) wR T (a) wiEeTsT

Gi) w1 T (b) @

(i11) TR T+ (c) FieTe

(iv) 6 WFEE Tw 0 (d) erweER

Codes / &€

@ 1) (1) Gv)
A © b @
By ® @ @
S0 © @ @
D)@ @ b) ©

Choose the incorrect pair :

Conservation Reserve District
(A) Beed — Jhunjhunu
(B) Gogelav ~ Pali
(C) Jorbeed Gadhewal — Bikaner
(D) Gudha Vishnoi — Jodhpur
HETA I B BT

T W G 8w [EEH
()&= - gL

(B) T ~ U

(C) Tede Wawm - doeR

(D) et fas=ig —  SHYgR
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The true r.m.s. voltmeter employes two

thermocouples in order to -

{A) prevent drift

(B) increase the accuracy

(C) cancel out the nonlinear effects of first
i;h,zmoeoupi-s

(D) increase the sensitivity

ARG 1.m.S. AFEHICT & YHeuey B M

HC H ST B § R

(&) o QT W1 96

(B) uendar sei% & G

(C) ueel ywieTs & LY UHTE! B G B
Sik:E

(D) deemsledr S W %

Telemetry aliow data flow in
(A) Single direction

(B) Both directions

(C) Depend on design

(D) Depend on carrier
TS F 2T YETE W OSAN & -
(A) waw feom o

(B) & feem o

(C) fewmg= ¥ Fefx s &

(D) ames T YT ®

A semiconductor has
coetficient of resistance.

(A) Positive

(B) Negative

(C) Zero

(D) Both Positive and Negative
CrCIRC aleriy qEE TeTe
Tar ¥

(A) TFTE

(B) =omeen

©) =@

(D) GFTETR AT HOEH

temperature

In an amplifier the signal handling capacity
will be high when the operating point is

selected -

(A) At the extremities of the active region
(B) Close to cut-off region

(C) Close to saturation

(D) In the middle Qf the active leg@n
e &g -

(A) GfFT &5 & T W

(B) Te—811% &F & &S

(C) ¥ & @i

(D) ufopm &1 & 7eg o

45
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(363

{Ci not mdmge
Efg‘c{ J-K fro-wde mE ¥ OF 3Ye Y e
o TSRYE BT -
(A) Fri=T

(C) uftafia =8 &

(B) aiaka
(D) Zfe

A amgc stage amplifier employing one
active device is powered by a 9V 1
which has a current drain Of 20 mA. If load
voltage is 3 Vat 12 mA, then determine 1},
um T e gw\ﬂ“z&mq\ % U Qﬁ%‘a‘a{ TaEg
9w 28 § TwiEs ¢ aet 3W % 20 mA
Pluk de RS e 9w 12 mA T3 VR, @
T T A B -
(A)30%

B) 15%
(C) 10% (D) 20%
A differential amplifier has a differential gain
of 20,000 and CMRR is 80 éB. Then the

common mode gain is given by -
Q?BW%W{%WEMWWZGOOGWQW

CMRR 80 dB %, d' ary= aTE &1 &1 [0
"1 @f%‘%—‘rﬂ -

(A) 1 (B) 2

(C) 0.5 (D) 25

likely to affect the signal -

(A) At the transmitter

(B) In the channel

(C) In the information source

(D) At the destination

TS T A 9T W e aT @ uwie
HAT & -

(A) TEERT 9T
(C) g & 9 o

What is the disadvantage of FM over AM 7
(A) High modulating power is needed.

(B) Requires high output power.

(C) Large bandwidth required.

{D) High noise is produced.

FM % AM ot @7 w1t g & 7

(A) SUTET TG iRy & STl TSl © |
(B) ST STSEYZ TR oY S99 USa! & |
(C) e Yelysy & gy el € |

(D) vurer T e BT § |

(B) T o
(D) Wieer T

=

o~

N 1
5 i

¥ e e e e I e vy R e e R e ] .
HERN H % H{E W WY, TS R

S S,
FET g -

/7

52
In communication system, noise is most |

N

The number of roots of &

+
1E AL the comions o
in the left half of the s-plane 15 -

(A) zero (B) one
(C) two (D) three

s~ IR o H £ 4557 +T75+3=0 B
@l wl we s -

(A) (B) s

ok (D) d

The gain of the open loop system is doubled,
the gain margin is -

{(A) Not affected

(B) Doubled

(C) Halved

(D) One fourth of Gi'giﬂai /au-"

soe qu Rres @ 99 g 8 T, O @
afaT %’“@ -

(A) TTESTR RS

(B) g

(C) amur

(D) te G @ A @

Equating the denomena
function to § {zero }v*@
(A} Poles

{B) Zeros

(C) Node

fD} Both Poles and Zeros

ST BRI & aeE (RRERT) @ 9T %
TOET TG UK G B -

(A) 9 {

(C) =g (
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If poles of the sj/sfee"’n are lying on
imaginary axis in s-plane, then the s gs@‘em
will be -

{(A) Unstabl

B) Stabé@

(C) Marginally stable

(D) Con cimoisahy stabl

T s-plane ¥ W‘I}%’«?ﬁ arer u Rrew & Ol
s B, ot fawm e -

(A) orerey (B) @i

(C) dfes & wrll (D) vewey ¥ Wl

Bode plot is applicable for -

{A) Minimum phase network

(B) Non-minimum phase network

(C) All pass network

(D) Every network of the control system
T i IIYH T —

(A) =FE e FeE% % WY

(B) arymaw &9 Tede % WU

(C) vt U egs & iy

(D) fesmr a5 % T+l gk & fog

Non-touching loops are said to be non-
touching, if -

(A)they do not pass any common node
(B) they do not pass any common loop
(C) when they have multiple inputs

(D) none of these

IR T, -SRI FEEw €, afy —
(A) Y BiFw A ¥ T8 A

(B) ¥ & qu & Tl ered

(C) w5 T ¥ e 3T &

D) T T AR T

Darnping in a control system is a function
£
{}A‘ -

(A) Gain (B) +/Gain
© T ©) S
“we fyEsmn yomen ¥ 9 (Damping) @R, @
gefg & -
(A) T (B) =
! I
© B ©) 35
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In the given ﬁgum the potential difference
between points P and @ is -

q%?léwigjﬁ g P ol O % =em favaien

24
—
20 40
1{) { ¥ _i— *r'\vz\ L Q
%fggz = 10V 60
| T
Ay B) 127V
©-6V D)8V

Consider the electrical network below

I Rw T Ry Yead v REr

+3A %’R ()24

Determine the value of ‘R’ so that current
through resistance is zero.

10V =

‘R’ o1 T S Y den Uiy § g8 gl o
S B

(A) 20 (B) 5Q

€ 40 (D) 30

The frequency response of parallel LRC
circuit at resonance is :

SATE U THmOR LRC affe @ amgia giieear
% : .

1
(A) Jo= z“a/;

1|1 R

B ho=2e{ic 2
2

1 1 R
(Y = o
© o mYLC 242
2

1 R

ID) f()— LC-"[-:E—'
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Which of the ?ohwmg theorems can be
applied to any network - linear or non-lin
active or passive, time variant
invariant 7

(&) Thevenin's theorem

(B) Norton's theorem

(C) Tellegen's theorem

(D) Sup@rpcsiﬁsn theorem
Frafafea o ¥ &9 w1 v e @ T W
@ e S wear ¥ - e @ IR-aw,
wiwe a1 sy, geale= a1 g99 oanEdad ¢

(A) fatw @ v (B) 99 @ W
(C)vsm o wom (D) guiaifae™ v

The unit of capacitance is - v
(A) Volts / Coulomb (B} Coulombs / Volt

(C) Ohms (D) Henry / Wb
gerforT & 3aE § - ‘
(A)drees | g (B) ger [ ke
(C) sl (D) ¥ [ AT

In pure resistance circuit transients not
available because they -

(A) have no stored energy

(B) offer high resistance

(C) are linear circuits

(D) obey ohm's law

Qﬁ JE ke uitwy o @it 79
(A) 579 &g gfum oo g o §
(B) ¥ v= why oo ¥

(C) ¥ @ aftwy 2@ ¥

(D) T ofm & Frow & g B §
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capacity of the line is -
TP WET o ar R uX gwear 132 kY @y o
Toel laeme 40 e ¥ 1 WIEE o e
(A)217.8 mw (B 251.5 mw
(C) 435.6 mw (D) 500 mw

Yoltage distribution across disk ui strings
of suspension insulator assembly is -

(A) same for all disks.

(B) maximum for unit nearest to the line
(C) maximum for unit nearest to the tower.
(D) equal to transmission line voltage rating.

T gt OE & B @ e w v

B s A

AT B & oo e

B) @ % Taeaw 3ok & e eiftmay
(C) =fax & Tweaw 3on & Mg sitman
(D) Trafye @EF aFes (T % ST

The skin effect increases the -

(A) Inductance of line

(B) Resistance of line

(C) Capacitance of line

(D) Voltage of line

e v (skin effect) W ¥ g ¥ -

(A) TmE (B) gk
(C) g9 (@wfomn) (D) awew

The distribution transformer is generally
connected in -

feraer e \?&né«aﬁ"‘u UT RE ST ST BRI
g7

[A-Delta; Y-Star]
(&) & - A
CY-aA




78 The disadvantage of low ¢il ¢

71

72

over bulk oil circuit breaker is

(A) It requires less space.

(B) There is a reduced risk of fire.

(C) There is difficulty iﬁ *@movmg gas from
contact space in tr

(D) Maintenance pmb!em are reduced.

i OF TGS FHT U B O i VT 6T R

THEE T 7

(A) Ta% WT &9 S8 @) SEeumal Bl ¢ |

(B) &TFT &1 WitEd &7 & |

(C) w9 T&a 9% WM ¥ Ty Faes ¥ sies
TR S

(D) TExEE o T H9 T W ¥

Lightning arrestor, connected in a power

system protect electrical equipment from -

(A) Over voltage due to indirect lightning
stroke

(B) Direct stroke of lightning

(C) Frequency fluctuation

(D) Over current due to indirect lightning
stroke

R ey, R s § o R ¥

TUHTT B G HQ T~

(A) ey faaTell |6 & RO aa—awes o

(B) srmeprsir ool & v o 9

(C) srgka # SaR-=eE ¥

(D) sruer el % e & BT AT BT Y

Resistance switching is normally resorted
in case of -

(A) Air blast Circuit breaker

(B) Bulk oil Circuit breaker

(C) Low oil Circuit breaker

(D) SF¢ Circuit breaker

TRy Refe o Suar gEe w9 ° R o
fopo ST & °

(A) TR =T Gie ST B

(B) 9% d@ @ik ST F

(C) & oW afhe a7 &

(D) SF,, @fthe S&x ¥

@ +

ircuit breaker
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77

Transistor biasing is provided by a -
(A) Biasing circuit  (B) Bias bat
(C) Diode "“) Generator

it el o . N YEE
SRt % !
(A) ST afthe B) 5@ =0

Ay

[
e

3
B)
(D) S

(C) s

A 1-phase fully controlled bridge converter

supplies a load, drawing constant and ripple
free load current. If the triggering ang?c is
30°, then the input power factor will be -

w1 W@W@’Wﬁﬁmﬂé“@
wE B YN wear & W FrE} ok e g
o1 Wigan & | 97T fEmhio ey 30° &, & Faar
I el w1 B 7
(A) 0.65
(C) 0.866

(B) 0.85
(D) 0.78

In a single phase full wave controlled bridge
rectifier, minimum output voliage and
maximum output voltage are obtained at
which conduction angles ?

(A) 0°, 180° respectively

(B) 180°, 0° respectively

(C) 0°, 0° respectively

(D) 180°, 180° respectively

s e B Tw 99 e delm @ma] ¥
T oneeye AT Sl eI STSeYE Swes
fopm =@ WO U YT e § 7

(A)0°, 180° wmg: (B) 180°, 0° mam
(C) 0°, 0° wH9n (D) 180°, 180° wmusm:

‘MOSFET’ acts as amplifier in ifs -
(A) Linear region

(B) Saturation region

(C) 'Cut off" region

(D) At the boundary of regions

e (MOSFET) us TRierX & w9 & &rf
HE &
(A) thas &1 o (B) g &= &

(C) ‘we o e ¥ (D) &% o amr o
Triac are usually operated at -

{A) High frequency (B) All frequency
(C) Low frequency (D) Power frequency
o A OX e B T -

(A)ver egia . (B) o ey
(C) e smafa (D) sifrr simgfa o

80

Chopper converts -
(A) AC 10 DC (B) AC to AC
(C) BC 10 AC (D) DC 1o DC

gfet ufEfia s & -

il ~ kY e TR
(C) DC g AL (D)yDC & DC
A four guadrant chopper cannot be operated
as -

(A) One guadrant chopper
(B) Cyclo converter

(C) Inverter

(D) Bi-directional rectifier

|re Tgutyr T feed w o wEriva T80 Tha
SURSERINNG

(A) s Tgula X (B) anEl Heee]

(C) TR (D) fafesr teemm

A step down chopper can be used in -
(A) Electric traction (B) Electric vehicles
(C) Machine tools (D) All of these

U WU-B[37 T9T @l GO B § -

(A) 3ol Taem ¥ (B) sofee el |
@z s (D) T

To meet high current demand, we use SCRs

in -

(A) Series connection

(B) Parallel connection

(C) Anti-parallel connection

(D) Both Parallel connection and Anti-
parallel connection

TET T @ OAOT W YU BN B WG, B
g 1S, BT ST el ¥ -

(A) ol gaem o

(B) omFaC WO o
(C) feufeg gamR €A o
(D) gamrR 9O ¥ g
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A) The type of circuit breaker

o~

The inductance of sy
e capacitance of s /y{ m only (C
Both inductance (L) and Capacitance (C)

of system

TIRNST dedw §ev @) v (e v FER e
N
(A) Tfhe ST & TSI

(B) et gomel 1 wXene (L)
(C) Saw gomen @ e (C)
(D) worelt & e (L) W@ i (C) g

Overload protection is generally not
provided for -

{A) Altemnator (B) Transformer
(C) Bus Bar (D) Lines

aiftrerT gREw eaR o Reee g uEm el
fepon s & 7

(A) ST (B) TEwER
(C) T8 s (D) w1+ -

The arcing contacts | in a circuit breaker
are made of -

(A) Aluminium alloy

(B) Electrolytic copper

(C) Porcelain

(D) Copper tungsten ailoy

qfthe Tt o STREHT B
BRI

(A) TRghT g

(B) zeawEls diar

(C) @l

(D) &Y 21

b
ik

= g
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89

At generator bus, defined guantities are -
: i
(AN P § i are defined
(A) |Fg| and f/gﬁ are define
(B) ii’*’;,é and gi}dj re defined
(C) |F| and |5 are defined
. i

) Pg , §Vg§ and 355 are defined
TET 99 Y, é*fsasétf?{mﬁmé?ﬁ%?
/ I = ;
) |7 = [l

] . H H
(B) |Fy] T Q]

Neutral grounding provides safety from -

(A) Surge voltage and arching ground

(B) Over voltages due to lightening
discharge

(C) Both Surge voltage and arching ground
& Over voltages due to lightening
discharge

(D) None of these

I TSR gRem g s ¥ -

(A) g geew g s aE §

(B) afea Sw & B siey giees 9

(C) T e o oMy TSs ¥ ot afsa S
& BT ST AR, QA @r

D) ¥ wry Tl

The draught produced by the chimney is -
{A) Forced draught (B) Natural draught
(C) Induced draught (D) Balanced draught
Rrd BT0 SO arg @ sl & -

(A) ot gTwe (B) wpferes gree

© vl g (D) dgf g

The design of insulation of the modern EHV
lines is based on -

(&) Corona (B) Voltage drop

(C) Switeh voltage (D) Lighting voltage
oy Sl WRA H S9N o7 feige
frg oT emela g ¥ 7

(A) wITAT (B) 9w g

(C) R awest (D) yemteT dwest

(69 +
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98¢ A permanent magnet should have -

-
poad,

92

93

94

(A) High coercivity (B) Low cosr?%‘ﬁf/
(C) Zero coercivity (D) High flux density

QEF%W §T% ¥ U8 T TIRT -

{A) T ‘i%%%i??h:s (B) fr=t iy

(C) 91 Siierey (D} TEG YIE T

A magnet is kept in air surrounded by an
ircn ring. The magnetic lines of force from

the magnet will be -

(A) crowded in the ring

(B) crowded in air

(C) crowded evenly distributed
(D) not produced

T YD S 0¥ B ¥ 7w F W@ w
T | IO e &% e -

(A) T & wumer gv e

(B) g1 & wreT T

(C) T & Rredie wumEr w=e e
(D) 5= & &

Which of the following laws do not form a
Maxwell's equation ?

{A)-Planck's law (B) Gauss's law

(C) Faraday's law (D) Ampere's law
T @ W P deuee g @ IR
T E 7

(A) < w1 Pram (B) Tifew &1 Frw
(C}'@m% T %a"sf (D) Thgat &1

Gilbert is a unit of -

(A) Magnetomotive force

(B) Conductance

(C)Electromotive force

(D) Permittivity

(A) TREieT sw & (B) Tiasar @l
(C) erwgmiiiea 5@ & (D) WIS Bl

In a lossy dielectric material, the ratio of
conduction current density to placement
current density is given as -

Teh BNVl URTEga Aeidd o daeT g uea
T WO YT O wgum BT T 7

(8 = B) 52
[$)
(©) o2 )

94 A transformer can hav

\p} Number of poles and rotational speed
(C) Number of poles only
(D) Rotational speed only
£. o

o . Dok o
TR & FEH \:%%%‘!“(”{ FIET lal & —
(A X”VFT“ W THTE Y

cs,tém’%%wﬂgmeﬁq EES
(C) was treg @) e

(D) hermr gl TR U

¢ regulation closer io
ZETO O e

{A) full load

(B) over load

(C) leading power factor

(D) zero pGWQZ‘ factor

THEHET & e N & W‘ﬁ? R
B

(A) Tl w5 W

(B) offa @ WX

(C) T iRt poniss 9

(D) 3 TR Tonie O

%7 The distributed winding in alternator -
(A) Reduces harmonics from armature emf

(B) Increases harmonics in armature emf
(C) No impact on armature conductor

(D) Provides voltage balance

T o [eEsgee aEieT ~

(A) oY emf T TEiNET &9 @ T
(B) et emf ¥ gTEiRRT SRR B
C}WW@%QW*@W% I
(D) o &6 v B S |

98 Ifthe fault current is 2000 A, the relay setting

50% and CT ratio 4—{)0/5, then Plug Setting
Multiplier (PSM) will be -

M Bl i 20004 ¥, fw afem 50% @
AR wie grawET (CT) sruma 400/5 %, @«
afeT o (PSM) & —

(A) 15 (B) 10
(C) 25 (D) 50
/”‘MN""‘\

ot

A

an

(A esistar
() esistance
HET BT A A% @l
wiE g e ¥ ol
(A) T wiray

(C) o gl

1

106 The relative permeability of paramagnetic

material is -
(&) Unity
(B) Jig%t“‘v less t

(C) Slightly more than unity
{D) Very high

i TR @ we ROTRIET B ¥ -

(A) i (B) 5o ¥ ot o
(C) zor ¥ oeT s (D) 959 Sl

101 Brass is combination of -

16

(A) Cu + Zinc

(B) Carbon + Cu

(C) Carbon + Zinc
(D) Aluminium + Zinc
CISACERTE S

(A)y i + [Ne o

(B) ®E¥ + HIUT §
(Cy s + fw ¥

(D) Trgfifre + Rie ¥

182 Schering bridge can be used to measure -

(A) Capacitance and its power factor
(B) *Q’ of a coil

(C) Inductance and its "Q’ value

KD) Very small resistan ce

e R B =TT W7 g T -

(A) g ol s ol URIEE

(B) AR % T @1 ‘Q’

(C) e R 38 Q7 T

(D) Tga B gy

3 A pointer of an instrument once deflected

returns to zero position, when the current is
removed due to -

(A) Action of gravity

(B) Mass of the pointer

(C) Controlling torque

(D) Damping torque

T SR & ddde TH S e ey
o g Rafy o S ', 99 9T e il

TR ?
(A) ToaTET fRar @ (B) d%ae B IR ¥
(C) ey wwmeel @ (D) e Sergy ¥




lue and
true value of quantity is known as -

(A) Gross error (B) Absolute error
(C) Dynamic error (D) Relative error
Rl 7B & R T iR aralke 1w & g
H ST T T -

184 The difference between indicated val

(A) e I (B) T 3
(C) e e (D) w3

105 The figure show below an AC bridge which
is balanced at 100 Hz. The quality factor of
the coil will be -

9 Ry T R ¥ w4 R E 9 R
100 Hz % 9gfia ear &, o geet w1 qorern
S IRy |

(A) 149
(C) 169

(B) 159
(D) 189

106 Which one of the following is a passive
transducer ?
(A) Photovoltaic cell (B) LVDT
(C) Thermocouple (D) Piezoelectric
freteiea & & B ue Sl ssge y 7
(A PR A (B) wAEA
(C) aviesae (D) Geigeiees

107 The difference between the measured value
and the true value is called -
(A) Absolute error  (B) Gross error
(C) Relative error (D) Probable error
GTEITIes A T TGS A 5 Te &l Sie Hedrar
% —

(A) Frder 3fe (B) wow I
(C) g Ffe (D) wiites (Semifera) 3fe

4

1
i
m. The frequency
r will be -

- QE@QF AT 900 rpm
) ?ﬁm T | 9Ty @t emghy

ﬁ?ﬁ%éw“

109 A single phase motor draws a current of 54
from a 120 V, 60 Hz line. The power factor
of the motor is 65%. Calculate the active
power absorbed by the motor -

U TW e "] 120 7, 60 Hz w57 ¥ 54
W § 1 AT @ gRRT i 65% ¥ 1 AR AT
gt whpa o o o Wt -
(A)o0O W (B) 390 W
(C) 456 W (D) 650 W

1101In three-phase induction motor the
mechanical power developed in terms of air
gap (Pyg) is -
-t Sear T A, @ qrg AT (PL,) %
ded ¥ Rl wifre se‘r‘%ﬁ wE 7

agi

{A> ( S) ag (B> (S"l) Pag
P
(C) £ (D) W‘Eé’-
s -5

111 A damper winding is used in a synchronous
motor for -
(A) Power factor improvement
B ?li“ninating hunting of rotor
(C) Efficiency improvement
(D) Minimising temperature rise
SR AT o ST Rishred HeT ¥ far s
%, arfs —
(A) Tt et ¥ gur @ |
(B) WX @l 2 fopam g @)
(C) zerem o gaum & |
(D) TUar T ¥ B e

112 Alternators are rated at -
(A kW (B) kVA
(C) kWh (DY KW or kVA
MY oy e foaw & s ¥ 7
(A) kKW (B) kVA
(C) kWh (D) kW a1 kVA

nduction Motor

113 Which of the following is a vector quantity?
(A) Relative permeability
{%3} Magnetic field intensity
Y Flux density
\ Magﬁw ¢ poteniial

- D
Wmﬁﬂ T E T BE g B gieer Tt ¥ 7

/A} e TTE (B) SR 8 @ AR
) T T (D) umra s
114 The magnetostatics highly relies on which.
gr@p@r‘{y 7
(4A) Resistance (B) Capacitance
(C) Inductance (D) Mo ent
Rerx y%mm wen et fee Ted ox T
T g 7
(A) il (B) denits
(o PG (D) &1
115 The force experienced by an electromagnetic

wave in a conductor is -
(A) Electrostatic force
(B) Magnetostatic force
(C) Electromotive force
(D) Lorentz force
s D o B
T U 8 TEd gEeE a0 &0 BF 91 9

T e ¥
(B) g Wi w@

(A) SEE %&“%m EG
(C) Rga-vwrem s@ (D) @GS &«

116 The correct sequence of increasing order of
electrical resistivity of the given material

ig-

(A) Gold, Silicon, Doped germanium,
Diamond

(B) Gold, Doped germanium, Silicon,
Diamond

(C) Gold, Diamond, Doped germanium,
Silicon

(D) Diamond, Silicon, Gold, Doped
germanium

& g wrE) o faga vk 6 Ted w9 o

qE BT T -

(A) 7ies, Talas, e SaHTY, SRS
(B) s, siw witas, ks, suds
(C) s, svs, % o, fafe

(D) srrvE, v, TFS, S© ST

PR

(7863

oy
Ch

(A) Ferromagnetic  (B) P

(C) Ferroelectric (D) Az

Rrgga Yo YT BT I B

Rp i frEm e & o § @ e
(4) BOTRE (B) Toe=iees

(C) %réé S CTAL (D) - Fisee

Mgwmg
’mzvzty
resistance to corrosion
(C) Good tkﬁz‘m&i conductivity
(D) High melting point
e o fgw €@ue werY
BISHT w9 7O e §
(A) T= wferdeea
(B) 57 & g s= wiede
(C) oresr @i =Teea
(D) 3=g e ®g

'J
CD

Do D e =
AW T W

119 Which material can be used upto a
temperature of 130°C ?
(A) Mica (B) Cotion
(C) Synthetic Resin (D) All of these
30°C % QO T e W WEEl B STEn
feban w1 e &7
(A) o1y
(C) fgfem W=

(B) wum
(DYT T

120 Amorphous materials are
(A)in which atom align
geometric paatem
(B) in which there is no dﬁﬂm"{i’ atomic
structure and atoms exist in a random
pattern just as in liquid.
(C) which is not attracted by phosphorous.
(D) which emits fumes.
G HeTE T 6 -
(A) R e, sl T ¥ sraRaw 81
(B) R i e oo dxae 78] BRlt g
X W e sifiEa B T
(C) =i W{F ¥ o T TR
(D) S yatl wisd ¥ 1

hemselves in






